REDNECK SOFT SIDE BURLAP DELUXE LOW PROFILE
BLIND ASSEMBLY INSTRUCTIONS

READ THESE INSTRUCTIONS IN ENTIRETY PRIOR TO ASSEMBLING THIS PRODUCT

NOTE: Assembling this product does not require more than one individual, but
some steps in the assembly process may be easier achieved with assistance. For
this reason, we recommend assembling this product with the aid of an additional
person, so assistance can be provided when needed.

WARNING! Do not remove, modify and/or omit any portion or otherwise mechanically modify this product(s) or its
assemblies in any manner. Modification, misuse and/or part substitution shall immediately void your factory warranty. If
you suspect that a part(s) is missing and/or defective, immediately discontinue all use of the product and contact Redneck
Manufacturing at 877-523-9986 for replacement of missing or defective parts.

NOTE: Some parts of this product are manufactured to be universal in use, so there may be some parts containing holes
that will not be used in the assembly of this particular model. To minimize confusion in the assembly process, please read
these instructions in entirety before beginning.

NOTE: When assembling the frame of your blind, all hardware should be configured so that the head of the bolt is toward
what would be the outside of the blind. The treaded end of the bolt should be pointing towards what would be the
interior of the blind. This is so the end of the bolt does not catch or rip the cover.

NOTE: REMOVE COVER DURING OFFSEASON. Redneck Blinds strongly recommends removing your Soft Side Cover when
hunting season is over. This will help prolong the life of the cover by preventing sun fading, rodent damage, and
tattering from strong winds. READ THESE INSTRUCTIONS IN THEIR ENTIRETY PRIOR TO ASSEMBELING THIS PRODUCT.

Should you have any questions about the assembly, installation or use of this
product, or any other Redneck Outdoor product, please call one of our customer
service representatives toll free at 877-523-9986.



STEP 1: Remove all parts from the packaging and familiarize yourself with all the parts and tools required. Find the bill of
materials located on the last pages of this manual and verify that all parts and hardware are present. You will need (1)
wrench, 7/16"in size, or (1) ratchet & socket 7/16” in size.

STEP 2: Locate the (4) LOWER FRAME BRACE “A". Using the corresponding male and female ends, slide each part into its
correct location, as illustrated in Figure 10.1 & 10.3.

NOTE: DO NOT bolt parts together. Also, the (4) LOWER FRAME BRACE “A” will have a set screw already installed on each
individual part. DO NOT tighten these set screws, they are to be left as is.

7= LOWER FRAME BRACE ‘A"
//

Figure 10.1 Figure 10.2
1 NOTE: The (4) LOWER FRAME BRACE “A” have
° a set screw already installed. DO NOT tighten
Figure 10.3
NOTE: The (4) LOWER FRAME BRACE “A” have these set screws. They will be used to fasten
a male & female end. After sliding the correct the coverin a later step.

ends together, DO NOT bolt parts together.
This will be done in a later step.

STEP 3: Locate the (3) VERTICAL SUPPORT BRACE “H". Using (3) 1-1/4" BOLTS & (3) NUTS attach the VERTICAL SUPPORT
BRACES “H"to the LOWER FRAME BRACES “A” where the male & female ends join, as illustrated in Figure 11.1. Make sure the
set screws on the (3) VERTICAL SUPPORT BRACES “H” are facing towards the interior of the blind, and on the bottom half of
the part, as illustrated in Figure 11.2.

NOTE: The VERTICAL SUPPORT BRACE “H” will be installed on what would be the interior of the blind, as illustrated in
Figure 11.1. The (3) VERTICAL SUPPORT BRACE “H” will be installed on (3) sides of the blind frame, the remaining side will
not have a brace. Use (1) 1-1/4"BOLT & (1) NUT to fasten this side together. The side of the blind frame that does not receive
a VERTICAL SUPPORT BRACE “H” will be the door side of your blind frame.

VERTICAL SUPPORT BRACE “H”

Figure 11.2

NOTE: Make sure the set
screws are facing towards
the interior of the blind, and
are on the bottom half of
the VERTICAL SUPPORT
BRACE “H".

LOWER FRAME BRACE “A”

NOTE: This location does not receive
a VERTICAL BRACE SUPPORT “H". Use
(1) 1-1/4” BOLT & (1) NUT to fasten this
side together. This is the door side

of your blind.

Figure 11.1



STEP 4: Locate the (8) BOTTOM WALL BRACE“G"and the (8) TOP WALL BRACE “F” Slide the male end of the BOTTOM WALL
BRACE “G” into the corresponding female end of the TOP WALL BRACE “F". Fasten the two parts together using a 1-1/4"
BOLT & NUT, as illustrated in Figure 12.1.

NOTE: This assembled part will be referred to as COMPLETED WALL BRACE in the remainder of this instruction manual.

TOP WALL BRACE “F”

BOTTOM WALL BRACE“G”

Figure 12.1

NOTE: The TOP WALL BRACE “F” assembled with the BOTTOM WALL BRACE “G”
will be referred to as COMPLETED WALL BRACE in the remainder of this manual.

STEP 5: Locate the (8) COMPLETED WALL BRACES & (8) CROSS MEMBER BRACES “J". Using (16) 1-1/4" BOLTS & (16) NUTS
attach one end of the CROSS MEMBER “J” to the COMPLETED WALL BRACE, as illustrated in Figure 13.2. Then fasten the
COMPLETED WALL BRACE & the other end of the CROSS MEMBER BRACE"J” to the LOWER FRAME BRACES “A’ as illustrated
in Figure 13.1. Make sure the set screws on the (8) COMPLETED WALL BRACES are facing towards the interior of the blind,
and on the bottom half of the part, as illustrated in Figure 13.2.

NOTE: The COMPLETED WALL BRACES & the CROSS MEMBER BRACES “J” will be installed on what would be the exterior of
the blind, as illustrated in FIgure 13.1. E

Figure 13.2

NOTE: Make sure the set
screws are facing towards

the interior of the blind, and
are on the bottom half of

the COMPLETED WALL BRACE.

LOWER FRAME BRACE“A”

Figure 13.1



STEP 6: Locate (3) WINDOW BRACES “E”. Using (9) 1-1/4" BOLTS & (9) NUTS fasten the (3) WINDOW BRACES “E" to the
COMPLETED WALL BRACES & the VERTICAL SUPPORT BRACES “H’, as illustrated in Figure 14.1 & 14.2

NOTE: The (3) HORIZONTAL WINDOW BRACES “E” will be installed on what would be the exterior of the blind, as
illustrated in Figure 14.1 & 14.2.

%‘ I J COMPLETED WALL BRACE
Il -
|| VERTICAL SUPPORT BRACE “H”

——

WINDOW BRACE“E”

N

STEP 7: Locate the remaining (8) CROSS MEMBER BRACES “J". Using (8) 1-1/4" BOLTS & (8) NUTS fasten the (8) CROSS
MEMBER BRACES to the COMPLETED WALL BRACES, as illustrated in Figure 15.1 & Figure 15.2.

NOTE: The (8) CROSS MEMBER BRACES “)” will be installed on what would be the exterior of the blind, as illustrated
in Figure 15.1 & 15.2.

CROSS MEMBER BRACES “J)”

COMPLETED WALL BRACES

Figure 15.1



STEP 8: Locate (1) UPPER FRAME BRACE “D". Using (4) 1-1/4"BOLTS & (4) NUTS fasten the (1) UPPER FRAME BRACE “D"to (2)
COMPLETED WALL BRACES & (2) CROSS MEMBER BRACES “J’, as illustrated in Figure 16.1 & Figure 16.2.

NOTE: The (1) UPPER FRAME BRACE “D” will be installed on what would be the interior of the blind, as illustrated
in Figure 16.1 & 16.2.

UPPER FRAME BRACE“D”

=T ) | TI7f—__ || ] CROSS MEMBER BRACE"J"

COMPLETED
WALL BRACE

\\ \/ Figure 16.2
Fig ure 1 6 1 lllustration of UPPER FRAME BRACE “D” attached to

. CROSS MEMBER BRACES “J”and COMPLETED WALL BRACES.

STEP 9: Locate the remaining (3) UPPER FRAME BRACES “D". Using (12) 1-1/4" BOLTS & (12) NUTS repeat STEP 8, fastening
one at a time, the remaining (3) UPPER FRAME BRACES “D” to the COMPLETED WALL BRACES & CROSS MEMBER BRACES“J",
as illustrated in Figure 17.1.

NOTE: The (4) UPPER FRAME BRACES “D” have a male & female end. After sliding the correct ends together, DO NOT bolt
them together. This will be done in a later step.

UPPER FRAME BRACE“D” >§

UPPER FRAME BRACE “D”

NOTE: The (4) UPPER FRAME BRACE “D” have
a male & female end. After sliding the correct
ends together, DO NOT use bolt & nut at this
hardware connection. This will be done in

a later step.

Figure 17.2




STEP 10: Locate the (8) ROOF BRACES “C". Using (8) 1-1/4” BOLTS & (8) NUTS attach the (8) ROOF BRACES “C" to the UPPER
FRAME BRACES “D”, as illustrated in Figure 18.1.

NOTE: The (8) ROOF BRACES “C" will be fastened to the outside of the UPPER FRAME BRACES, on what would be the
exterior of the blind, as illustrated in Figure 18.1.

ROOF BRACE“C”
ROOF BRACE“C”

ROOF BRACE“C”

UPPER FRAME BRACE “D” \

ROOF BRACE“C”

Figure 18.1



STEP 11: Locate the (1) ROOF PLATE “B". Using (16) 3/4” BOLTS & (16) NUTS attach the (1) ROOF PLATE “B” to the (8) ROOF
BRACES “C”, as illustrated in Figure 19.1.

NOTE: The ROOF PLATE “B” will be fastened to the top of the (8) ROOF BRACES “C", on what would be the exterior of the
blind, as illustrated in Figure 19.1.

ROOF PLATE“B”

ROOF BRACE“C”

ROOF BRACE“C”

<
Figure 19.1

STEP 12: Locate the (16) BOLT COVERS. Standing inside the frame of the blind, look at the bottom of the ROOF PLATE.
Attach the (16) BOLT COVERS to the bottom of the (16) 3/4” BOLTS installed in previous Step 11.



STEP 13: The frame assembly is now complete for your Redneck Soft Side Blind. Locate the (2) ACCESSORY BRACKETS “I".
These optional parts are to be used in conjunction with the Redneck Gear Console in installation on your Soft Side Blind.
If you are not installing a Gear Console, skip Step 13 & proceed to Step 14.

Installing the (2) ACCESSORY BRACKETS “I". With (2) 1-1/4”BOLTS & (2) WING NUTS, attach the (2) ACCESSORY BRACKETS “I”
to (1) HORIZONTAL WINDOW BRACE “E”, as illustrated in Figure 20.1 & Figure 20.2.

NOTE: The (2) ACCESSORY BRACKETS “I” will be fastened to the outside of the HORIZONTAL WINDOW BRACE “E”, on what
would be the exterior of the frame, as illustrated in Figure 20.1 & Figure 20.2.

ACCESSORY BRACKETS “I”

GEAR CONSOLE
HORIZONTAL WINDOW BRACE “E”

Figure 20.2

Figure 20.

NOTE: After the (2) ACCESSORY BRACKETS “I” have been installed, refer to the instruction manual included with the
Redneck Gear Console for installation of the Gear Console.

For more information on the Redneck Gear Console, or to place an order, visit www.RedneckBlinds.com



STEP 14: Locate the (1) SOFT SIDE BLIND COVER “M". Locate the door side of the SOFT SIDE BLIND COVER “M", and the
door side of your blind frame. Place the SOFT SIDE BLIND COVER over the top of your blind frame, taking care to align the
door side of your SOFT SIDE BLIND COVER “M” with the door side of your blind frame, as illustrated in Figure 22.1.

SOFT SIDE BLIND COVER“M”

]

DOOR SIDE OF COVER

DOOR SIDE OF FRAME Qg

Figure 22.1

STEP 15: Locate the zipper on the panels of the SOFT SIDE BLIND COVER“M”, as illustrated in Figure 23.1. On all four sides
of your SOFT SIDE BLIND COVER“M”, zip closed the panels.

SOFT SIDE BLIND COVER“M”

NOTE: Use caution when zipping closed the panels on
the SOFT SIDE BLIND COVER “M".Too much pressure may
cause the zipper to rip.

Figure 23.1



STEP 16: Unzip the door and windows of your SOFT SIDE BLIND COVER“M” & get inside of the blind. The remainder of the
assembly proccess will be performed from the interior of the blind.

Locate (4) bungee straps positioned along the bottom of one side of the SOFT SIDE BLIND COVER“M". Attach each bungee
strap to it's corresponding set screw located on the frame, as illustrated in Figure 24.1 & Figure 24.2.

SOFT SIDE BLIND COVER“M”

/

Figure 24.2

Figure 24.1

STEP 17: Repeat Step 15 for the remaining bungee straps located along the bottom of the SOFT SIDE BLIND COVER“M".
Attach each bungree strap to it's corresponding set screw located on the frame.

STEP 18: Locate the (50) velcro tabs on the SOFT SIDE BLIND COVER “M”. Secure the velcro tabs around the frame, as
illustrated in Figure 25.1 & 25.2

The SOFT SIDE BLIND COVER “M” should now be completely installed & secured to your Soft Side Blind Frame.

VELCRO FRAME

Figure 25.2
Figure 25.1



STEP 19: Locate the (7) WINDOW COVERS “N". Starting at the top, attach each clip to the UPPER FRAME BRACE “D”, then
repeat the process for the bottom clips, attaching to the LOWER FRAME BRACE “A”, as illustrated
in Figure 26.1.

NOTE: The Curtains need to be installed on the outside of the frame, between the frame and the cover. Also, be sure to
install the correct curtain in the correct location. The four bow window curtains will be installed in the four corners, where
the bow windows are located.

UPPER FRAME BRACE “D”

MESH WINDOW COVER“N”

LOWER FRAME BRACE “A”

Figure 26.1

Your Redneck Soft Side Blind should now be completely assembled. Should you have any questions about the assembly,
installation, or use of this product please call one of our Customer Service Representatives toll free at 877-523-9986.

ANCHORING YOUR BLIND TO THE GROUND: Your Redneck Soft Side Blind comes with (2) REBAR ANCHOR STAKES “K”
used to secure the blind to the ground. If you are constructing your own stand, or will be using the Redneck

6ft Heavy-Duty Blind Stand, you will not need to use the REBAR ANCHOR STAKES “K". However, if you will be using your
Redneck Soft Side Blind on the ground, proceed to Step 20 for anchoring instructions.

STEP 20: Locate the (2) REBAR ANCHOR STAKES & the (2) HOLD-DOWN ANCHOR BRACKETS. In opposite corners of the
blind, using a Large Hammer / Sledge, drive the REBAR ANCHOR STAKES through the HOLD-DOWN ANCHOR BRACKETS,
making sure the HOLD-DOWN ANCHOR BRACKETS are securely placed over the LOWER FRAME BRACE “A”, as illustrated in
Figure 27.1. e —

S LOWER FRAME BRACE “A"
\7 z: / ~ | ANCHOR BRACKET ‘
\ “

Figure 27.1



COMPLETED FRAME ASSEMBLY




“I" ACCESSORY BRACKET (2)

“A"  LOWER FRAME BRACE (4)

“C" ROOF BRACE (8)

“D” UPPER FRAME BRACE (4)
“)"  CROSS MEMBER BRACE (16)

@ D)

“B” ROOF PLATE (1) “E” WINDOW BRACE (3)

> — =
“H”  VERTICAL SUPPORT BRACE (3)
= . -
“F” TOP WALL BRACE (8) “G" BOTTOM WALL BRACE (8)
L ° :EI = i * |
“K” REBAR ANCHOR STAKES (2) “Q" SOFT SIDEBLIND COVER (1) “N” MESH WINDOW COVER (7)

0D

“0” GUN REST BRACKET (1)

L

“P” BOW HOLDER HOOK (1)

‘" HARDWARE BAG (1) @

CONTENTS OF HARDWARE BAG *NOTE: Extra hardware is included, you will have left-over pieces

NUTS (100)
TOOLS REQUIRED (NOT INCLUDED) D
(1)7/16” Wrench(s) HOLD-DOWN CARRIAGE

(1)7/16" Ratchet & Socket ANCHOR BRACKET (2) WINGNUTS(2) ~ BOLT CARRIAGE BOLTS (90) ~ BOLTS (18)
(1) Large Hammer / Sledge COVER (18) ~ 1-1/4” Length 3/4” Length

/




